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TESTNO: 1

i. Choose the correct answer :

¥ P %
oLs 5
7 > AV, i‘
- B
s alam G

Unit : 1. Management Process &
Unit : 2. Financial Markets - I

1.

co

. Managementiswhata.......

Dividing the work into small tasksis knownas........

it
(a) Discipline (b) Unity (‘éf Division of work (d) Equ tY
la ; w W odoa
he ObSCW&UOl’l of pCOp].e ‘a.t OI'k that WOuld reveal the one best way

ment
task is knowl as ........ (a/Scientific management (b) Creative manage

Le}/ Human resource management (d) Classical management
does ?

(b) Subordinate (d) Superior

_[};/Manager (c) Supervisor

. HenriFayolwasa..........

%) Social scientist {b) Accountant (c) Production engineer Ldf)/ Minlvng engineer
Match the followmg and choose the correct answer by using codes given below.

. Pick the odd one out :

. Which is the primary function of management ?

- Which of the following is verification function ?

List. 1 l List II
(a) Rule of Thumb (i) Mutual trust 2 |
(b) Mental R:volution 1) Extensjon of principle |

Attitude of workers -
Personal judgerients)

(i)

(iv)

() Groug action

(d) Cooperation

Codes: ) Gi) () Gv) @ ) ) (v
@) 1 2 3 4 AP} 4 3 1 v
@ 3 4 2 U @ 2 2 i ‘

v e is part and parcel of our day to day life.

(a)Managemeznt (b Industry (4] Commerce (d) Economics

(a) Separate Discipline
}éf Body of knowledge (

(b) Management Tools

" Mental Revolution

. Which one of the following is not correctly matched ? .......

(a) Management Tools Statistics
(b) Separate Discipline
{c}- Body of knowledge

Specialisation

Seminars
Management literature

Social Institution

A have approach concentrates on the entire organisation.

}31/ Systems  (b) Contingency {¢) Man Power (4] None of these

{2) Innovating (b) Controlling Planning (d) Decision ~ making

(ﬂ”}@lg

{a} Planning (b} Organsing fe) Staffing

12. Nothing can be performed without

13. Planning, Organizing, Directing and Controlling are the

www.TrbTnpsc.com. ).

(a) Organising 1] ) Staffing

Functions of management

{c) Results of management

-----------

(d) Controlling
(b) Goals of management
(d) All of the above

14. Match the following and choose the correct answer by using codes ngen belov

List I

__ListII

(a) Controlling
(b) Co - ordination
(©) Motivating

(i)
(1)
(i)

Resourceful leader
Pre - set goals
Unification of integration

(d) Directing (iv) Predetermined Standards

Codes ; (i) (u) (iii) (iv) 0 ) @) (v
,(/ 4 2 1 b) 1 2 3 4
(¢) 3 4 2 1 (d 2 3 1 4

15. Which one of the following is not correctly matched ? .......

Planning #

(a)

‘(b) Organising -

Staffing -
Directing

()

Look before you leap

Creation of network i
Placement of right persomy

Size of »rganaisation

16. Pick the odd one ont :

(«) Picnning

17. Fungtions of managerneat can be classined into

af Twe (b) Three

18. The guals are achieved with the help of

\b) Organising

Avinosity

(d) Staffing
...... cat:gories.
(K Four %'l) Fve

Mo':ivation (b) Innovation € lepreseataiion {d) Communication

Z.9.VDelegafion or Authority is tiasily Done with the Aelp cf .. ......

(a) MBM (b) MBE | MBO (d) MBA
20. MBQ is popularised in ........

(&) USA (b) Japan (c) India (d) UK
21. Management by objectiveis a ....

(a) Set of rules (b) Series of procedﬁre )

(c) Way of thinking about management All of the above
22. Match the following :

List I

List II

(a) Reappraisal of objectives
(b) Appraisal of activities
(c) Matching resources

@
(if)
(i)

Technical personnel or scarce raw materi
Market standing, innovation

Discussion between superior

and subordinates

S 1

A

(d) Key results area (iv)] Short period
Codes: (i) (i) (i) (iv)" G @) @
(a) 1 2 3 4 4 3 1 “
) 2 3 4 1 @ 3 4 1 12 [PTO
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3. Which one of the following is not correctly matched ? .......

(a) MBO Management By Objectives
(b) MBE . Management By Exception
() KRA ~ - Key Results Area

MBO - Management By Organisation

24. How many times a security can be sold in a secondary market ? ...
(b) Two time (f Multiple times
n5. Financial market facilitates business firms ....... (a)A rise fgisds
(b) To rescruit workers (c) To make more sales (d) To minimize f nd requirment
26. In primary markets, first time issued shares. to be pubiicly traded, in stock
° markets is considered as :........

(a) Only one time (c) Three times

(a) traded offering

&y initial public offering
27. Process of selling and buying of stocks and bonds is classified as .........

(b) stock trade

(b) public markets (c) issuance offering

e—trade 5 oth ‘a’ and ‘b’  (d) None of these

Lisi 1 List II
() Monzy market () Stock exchange
(b) Capital market (i) ‘ Sék of securiiies |
(¢) Primarr market (i) Debentur:s
(d) Seccndary Market l (iv) ‘. Treasury _B_il;s

Codes: () @) (0 a6 @ @) @@

(ay 1 2 3 4 ) _2 3 1 4
(F) & 4 1 2 R 5 a, 1
29, i for productive purposes is also made possible.
(a) Saving mobilization (b)-Investment Mlow of funds (d) None of these
30. sesss System gives full Scope to the Individual Strength and Responsibility.
{ mBO (b} MBE {(c) MBM (d) MBA
31. When the NSEI was established ...........
(a) 1990 _WQZ {c) 1998 (d) 1997

32. How many times a security can be sold in a secondary market ? .

(2) Omiy Ome Time (b} Two Time (c) Three Times  <df Multiple Times
33. Which market facilitates capital formations ? ......... (g)'/l’:/i;nary market

(b) Secondary market (¢} Debt market
34. The NSDL was set up in the year ..........

{a) 1990 {b). 1992 lc} 1996 {d) 1998
35. Which of the following does financial services industry consistof ? ........

(i) Tele communication (ii) Insurance (iii) Fund Management (iv) Trusts

{d) Money market

{a) Tand Il {b) Y1l and IV {c) 1,1l and 11 (1T, T and 1V
36. Capital market is divided into ....... categories.
1 Mo (b) Three (¢) Four (d) Five

‘41, Risk in the Money Market is

28. Match the fo]low'mg and choose the cor;ect_ans_\&er by using codes given below.
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-4-

. 37. Stock exchange ........ speculation in shares.
(a) does not allow /0:‘[ discourage encourage
p (d) hibits
38. Pick the odd one out : B
(3) Primary market (b} Securities mairket {¢) Price (@) Location

39. Which one of the following is not correctly matched ?

(a) Venture Fund Institutions .  BIDBI

(b) Mutnal Funds - LIC

(c) Factoring Institutions - Canara Bank
m//n‘sm - 2000

40.The money invested in the call money market provides high liquidity with

Low Profitability (b) High Profitability
(¢) Limitied Profitability (d) Medium Profitability

.....

............

< (a) High (b) Market Risk Ww Credit and Market Risk (d) Medium Risk

492. The market for buying and selling of Comercial Bills of Exchange is known
- e e . (a) Commercial Paper Market
ommerclal Bill Market
43. Treasury Bills commands

(b) Treasury Bill Market
«(d) Canital Market
igh Liquidity (b) Low Liquidity (c) Medium Liquidity (d) Limited Liquidity
44 Match the rollowing and ct.oos: the correct answer by using codes given below.

[ uistI T uistm ]
- 'l?e) [ssue Mcchanisin (i) ‘ "Szcond well clevel oped |
(21 Londor. money raarket (ii) Bearer hond

() Newycrk money market | (iif) | Oldest marketin he world

iid) Worras | | (iv) ?‘abicke_b_t_c_fggf \

Codes: fy ({ii) (i) @) @ @ @) (v
a) 1 2 3 4 (b) "2 3 1 4
¢y 3 4 2 1 dar s 3 i 2

45, Commercial paper issued with low interest rate thus cominercial paper are
categorized as ........ (a) payable rating  (b) commerical rating
Jg)/letfer credit ratings
46, Maximum maturity days of holding commerical paper are ...........
(a) 170 days (6270 days (e) 120 days {d) 100 days
47, Which market dealsl with shares and debentures? ..............

(a) Money market [p}Cpital market (c) Debt markst (d} Primary masket

{c) poor credit rating

48. .o days Treasury Bills do not carry any fixed rate.

{a) o1 days (bf 182 days () 200 days 64 days
49. Pick the odd ohe out :

(a) Drawer {b) Payee {c) Acceptos Mfil}'ﬂtﬁ market
510 S—— are drawn wlithout accompanying

(a) Demand bills 5] Olean bills

{c) Documentary bills _{d} Indigenous bills
XIi-Sid - Com - O M.T.-
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_zm_g_:._zm l Marks : 50 | 1.00 : Hr. 13. SEBIlis formed as per........ e
OMMERCE | | 1 memmie e,
c (c) Becurities and Exchange Board of India At () Tu hpn ces ct
Unit : 3. Financial Markets - I 14, What is the meaning of financing’ in the financial Yilian
TEST NO . 2 Unit : 4. Human Resource Management (a) Advising an organization to raise chast market? .......
. Choose the correct answer : 50x1=50 (b) Investing in the securities market i s
1. Tﬁere ATE woveis stock exchange in the country. ' (d) Converting the assets into cash (e} Bourcing funds
a) 21 (b) 24 _.fe) 20 (d) 25 ; 15. Match List I with List Il and sel
2. f‘\.)pesmmlstlc speculator is ...... {a) Stag (b) Bear (c) Buil (4) Lame Duck List I <. ﬂ:‘::;ed answer using codes given below. |
3L, etttness means the price at which securities are bought and sold are recorded (@ Brokers T8 5
and made public. (a) Market Quotations . (b) SEBI (i) Physical share certificates
@} Erade Quotations (£ Businss guotatigsw 1) Hyérs Qroctiony (c) Stock exchange (iii) |  Share market
4. People like to invest in the shares of such compames which yield .......... (d) Dematerialisation (iv) N
(a) goodwill (b) good profits  (c) financial position is high (d) Services Codes : (i) (ii) (i) (iv) 0 @ @ )
5. The normal trading time for equity market is between ....... @ 4 1 3 2 B 1 ” s 8
(a) 8.30 a.m. to 7.30 p.m (b) 9.15 a.m. to.3.30 p.m () 2 3 4 1 @ 3 4 N Y
(c) 6.00 a.m. o 5.0 p.m  (d) 7.30 am. to 7.00 paa 16. Regulating and controlling the kusinesson ........ markets.
6. Match Lis: 1t Lasi [T and select tlhe correct answer using; ccdes given below. " (a) Stock " (b) Exchange {c} Capital {d) None of these
ListI | List IT 17.-Pick the od< one ou! :
(@) Ecomac developraent ! ()} |Reputation (a) DAM Cerd 3) D Card (3) Voters 'd d) Soeial Order
(b) Scare resousccs (i) | Merze of arna’'gamation : 18. Planningisa ...  functior.
(c) Goodwill (i} | Bctier util zafion ta) Sclective ") Pervasive {2} Potnaind b (d) None of the above
(d) Bargeining strength () | Productive purposes 19. Labour turr.over is the rate at which eraployees .. ..... the organisation.
Codes : () () (i) (iv, O @ 6w @ A\ i Anter ) by et N e
(@ + 2 T . (b) 2 " & . 20. Iluman resvurces cas workasa ...
fc) 4 3 i 2. @ 3 4 2 1 (a) Unity (b) Reliable {¢) Team {d) Nome of the these
7. TheISE has been promoted by .......... regional stock exchanges inthe country 21. In modern scenario a companies long term advantages fissin ... .
and is based at Mumbai. (é‘) 12 (b) 13 (e} 15 ) 21 (2) Technology (b) Business location - (c) New market (d) Human resource
8. Pick the odd one out : (a) London Stock Exchange 22. Scope of the HRM includes ........ .
(b) Tokyo Stock Exchange (c} Remisers (d) Hong Kong Stock Exchange (a) Retirement and separation of employees  (b) HR training and development
9. In which year SEBI was constituted as the rgegulator of capital markets in (c) Industrial relations (d) All of the above
India?.......... (a) 1988 (b) 1922 fe) 2 (] 2013 23. Match List I with List IT and select the correct answer using codes given below.
10. SEBI is empowered by the Finance ministry to nominate ........ members on : “List I List IL
the Governing body of every stock exchange. (&) Human resource (i) Planning
(a) 5 by 3 (c) 6 ) 7 ) (b) Human resource management (i) | Procurement
11. PAN standsfor ........ o (c) Managerial function (iii)] Goal oriented
{a) Permanent Amount Number (b) Primary Account Number (d) Operative function ; (iV) Movable
{¢) Permanent Account Number {d) Permanent Account Nominee Codes: (i) (i) (i) (iv) M (i) (i) {¥)
12. The capital market is meaningless in the absence of the ......... a) 4 3 1 2 1 2 3 4 —
{a) Brokers (b) Investors - (e} Owners (d)’ Employees (c) 3 i 2 4 @ 2 1 4 2 Lfl U
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is deciding in advance what to do, how to do and who is to do it.
{a) Planning (b) Organising (c) Directing (d) Controlling

25. Pick the odd one out : Features of Human resource managment.

26.

{a) Universally relevant (b) Goal oriented
{¢) Minimum shares ' (d) Dynamic.activity
Which one of the following is not correctly matched ? ........
(a) Maintenance - Job satisfaction
{b) Retention - Health and safety
{c) Compensation - Bonus
{(d) Development - Placement and promoﬁion
27. Advertisementisa ........ source of recruitment.
(a) Internal - (b) External (c) Agent (d) outsourcing
. e-recruitment is possible only through .......... facility.
(a) Computer (b) Internet (c) Broadband (d) 4G

30.

31.

33.

34.

35.

36.

37.

. Poaching is also called ........

{a) Raiding (b) Unsolicited application {e¢) Profession - (d) Tutor
Comparison between numbers of applications at each preceding stage of
recruitment process is classified as ...

(2) Initializaiios satls (W) resultant ratio (o) yield ratic (1) application ratio
Rearrange the following s‘eps of recruitment. ... ..

I. Searching II. Eveturuon and Condrol .

[II. Planiing IV. Screening V. Strategy developient

(@) OLO,LV,IV (B iLV,LT, 0 (o IV, 7, ILLI  ()ILLTV,v,

List _ [ usm

() Advertizement ( | Peeching A

(b) Walkins , (ii) Online methou

(¢) Rival firms- . (i) Source of requirements

(d) e-recruitment (iv) Nature of work

Codes: (i) (i) (i) (i) (i) (i) ()  (iv)
2) 3 4 2 1 ) 1 2 3 4
() 4 3 .1 2 (@ 2 1 4 3

Promotionisa.......... source recruitment.

(a) Suitable (b) Higher {c) Internal (d) External

...... refers to the process of identifying and attracting job seekers so as to
build a pool of qualified job applicants.

(a) Selection (b) Training {c) Recruitment (d) Induction

Job first man next is one of the principlesof .........

{a) Test (b) Interview (e} Training (d) Placement

The first modern intelligence test was developed in ..........

{a) 1961 (b} 1911 (c) 1204 (d) 1857

Proper selection of candidates reduces .........

(a) good talent {b) labour turmover (c) Absenteeism  (d) Nome of these

www.TrbTnpsc.com

38. Match ListI with List Il and select the correct answer using codes given below

List I List 11
(a) Contractof employment | (i) | HR director
(b) Final selection (ii) | Truth worthiness
(c) Higher authority (iii} | Dress code
(d) Reference check (iv) | Duties and responsibilities
Codes: (i). (ii) (i) (iv) @ (i) (i)  (iv)
(a) 1 2 3 4 (b) 4 3 1 2
) 2 3 1 4 @ 3 4 2 1
39. ........ is quite contrary to structured interview.

40.Pick the odd one out .

42.

43.

44,

45.

46.

47.

48.

49.

50.

(a) Panel interview
(c) Stress Interview

(b) Unstructured interview
(d) Guided interview

(e¢) In depth inl;erview

the candidate ? ........
() Attitude Test

(a) Panel interview (b) Human resource management

(d) Stress interview

41. Which of the following test is used to measure the various characteristics of
(a) Physical Test (b) Psychological Test

(d) Proficiency tests '

Which one of the following is nnt correctly matched ? .......

(a) Telephone interview "

(b) Online interview

(e} Gaoup irterview

(d) Vid:o conlerencing interv.ew -
Off the Job trainingisgven.........
(b) On off days i<} Outside the ractory, 14) Ij, the playground
When trainecs are traired by sup ervisor or by superior at the: job iscalled ......
(b) Kefresh.r training
(d) Apprenticuship treinim?
........ type of trainee.  (a) Only theoritical training

(b) Both theory apd practical training

(a) Vestibile trainiar
(¢} Pole play
Case study method is

{c) Hands on training

Last techniqu:2
Google duo

Screexing process
Face to face iateriew

(z:) 1n the clas; room

(d) Abservation Training

Doctors conference and salesman conference are the examples of ........
(b) Coaching method

{a} Role play method

{c}) Apprentice training method

E-learning is all about
(h) Electronics {c)

(a} Coaching method

(o) Apprenticeship method

Experience

(d) Seminar / conference method

{a) Computers and computing
{(d) Being - technolegy - driven

is the process of sharing knowledge and experience of an employee.

(b) Mentoring method

(2) On the job {b) Off the job
{a) Job rotation methed

Pick the odd one out :

(b) Committee assignment method (¢) E - learning methe

ey e mm D b P DSBS
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(d) Job rotation method
training which is carried out away form the normal place of work.

(c) Both ‘@’ and ‘D’ {d} None of these

d (d) Coaching methea_i
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TESTNO: 3

COMMERCE

Unit : 5. Elements of Marketing

Unit : 6. Consumer Protection

l. Choose the correct answer :

50 x 1 =50

1. The Spot market is classified on the basis of .......

(a) Commeodity

1o

debentures? ........

{b) Manufactured Goods Market

{b) Transaction

(¢) Regulation (d) Time

Which one of the market deals in the purchase and sale of shares and
(a) Stock Exchange Market

(c) Local Market  (d) Family Market

3. Which market is regulated and controlled by certain rules ? .........

(a) Commodity market
{¢) National market

4. Sub-division of marketing is called as

(b) Decision of market

(e} Allowcation of market

(b) Produce exchange market
(d) World Market
(a) Market =egmentation

(¢) Ilone of these

5. Match ListI with List I ¢ nd select the correct answer usiag codes given below.

List I
(a) Fa_n@ market
{b) Locial mazlkst
(c) Natonal market

| Lisi I
(i) l Deman i througho 1t tne country
l (i) | Boundaries of a nation

(iti)

s

Zlcse raerabers

| (iv) | Tovm or village

(d) International market . -\
Codes: 1) (i) () (v 0 G i) (iv)
fa) 1 2 3 4 (b) 4 2 1 2
(e} 2 3 1 4 (@) 3 4 1 2
6. ......is the most valuable product that can be marketed today.
{a) Persons (b) Places (e) Imformatiovn (d) Ideas

7. Pick the odd one out :
fe)
Which one of the following is

Whole sale market -

instigater

os]

(2}
b} Retail market
)

¢} Primary market

—— e e

d) Secondary market -

{aj Customer

10.

{a} Place Variable (h) Product Variable {c¢) Program Variable

(=)

(d) Forelgn enchange market

{b) Seller
In the following variables which one is not the variable of marketing mix ?

Money market (b) Stock market
not correctly matched ? ...

Small quantities

Bulk quantities

Metropolitan area

Semi finished geods

(c) Wholesaler {d) Retailer

{d) Price Variabie

11.

12.

13.

14.

15.

16.

17.

18.

)=
W

o
D

23,
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Anything that can be offered to ;lzr;larket fisr
consumption that might satisfy a want or o—

() Demand (b) Price

Warehousing removes the hindrances of 1 S
(a) Th-ne . (b) Place (¢) Finance 4) Form
Functions of marketng are classified into .. types

(a) Two (b) Three (¢) Four (@l Five

Pick the odd one out :

(a) Product (b) Packing (c) Price (d) Promotion
....... is the main element of marketing,

(a) Price (b) Product (e) Place {d) Prome ion
Selling goods/ sérvices through internetis........

(b) E - business

(a) Shopping cart
E-tailing is also called .......

(b) Online trading (c)

. Green markestiug is a part of

{b) Servic: marketing

(c) Social marketing

(c) Relationship marketing

is called

{c) Product

(a) Online business
Green marketing

(@) Social marketing

(b) Commedity Ex change

ii)

)
( Faceboolk, Twitter

lie)  Niche inarkcting (i) | Copperand.ecld

(d) Viral marketing | (iv) Banking and healthcare l

Codes: (i) (i) (i)  (iv) G) @) i) ()
a) 1 2 3 4 (b) 4 3 1 2
€y 2 3 4 i (4 8 1 2 4

them closer to a direct purchase is knownasa ......... website.

Customer service

{a)

. Which one of the following is

{a) Guerrilla marketing -
()
(c)
(d)

Ambush marketing
Viral marketing -
Online retailing -

The term ‘consumerism’ came into existence in the

1960 (b) 1957

{a)

1.1.1986  (b) 1.4.1986

(a)

(b) Interactive

(e) Corporate

not correctly matched ? ...
Advertisement strategy
New techaique
Sustainable marketing
E-tailing

VEAT v

(c) 1954 {d) 1958

 The Consumer Protection Act came into force with effect from ...

(c) 15.4.1987 (d) 15.4.1990

Send Your Questions and Answers to Our Email Id - padasalai.net@gmail.com

attention, acquisition, use or

(a) Green marketing
; (d) Meta marketing
A company’s products and prices is visually represented by

(b) Web portal (c) Electronic catalogue {d) Revenue model

(d) None of these

(¢) Riral marketing

. Match List I with List [l anc select the correct ans'ver using codes given below.
[ List | Lietll
(a) Service marke:in; STAR Sports

. The type of website the engages consumers in intreractions that will move

(d) Marketing
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95, Any person who buys any goods or avails services for personal use, for a
consideration is called as ........ '
(a) Customer (b) Consumer (e) Buyer (d) User
96. Which causes heavy loss to the consumers ? ........
(a) Spurlous goods (b) Warrenty (c) False advertisement (d) Adulteration
7. Caveat emptor means .......... (a) Let the buyer beware
[b) Let the seller beware (¢) Both (d) None of these
The minimum age limit for being a member of district forum as per consumer
protection actis .......... () 65 (b) 35 (c) 40 (d) 30
. In the beginning of .......... century industrial and economy reached a boom
state. fa) 17® (b) 18® (c) 19% (d) 20*
30. An........ consumer is the need of every hour. -
(a) sleep {b) working (c) alert (d) none of these
3, _ .....is the most exploited constituent in the business world.

28,

2

(a) Owners (b) Marketers (c) Managers (d) Consumer
3. As the corcumer ic having the rights, they are also having .....: ..
{a) Measues i) Promotion (c¢) Responsibilities (d) Duties
33. It is the responsibility of a consum<r that he must et . as a pronf for
the purchas¢ of goods.
{a) Cash ruceipt (k) Warranty card (¢) ‘nvo'ce (d) All >f these
The total number of rights given to consumers as per cor sumer nrotection
Actis........ (a) 5 b 4 c 6 () 3
. Penalty fcr the violation of the orders ci *he forum commission is . ... ...

34.

o

(a) A fine <7 imprisonment or both {(b) Imyprisonment ngto 3 year
{c) Fine upto T 50,000 {d) Fine upto ¥ 15,000
3. Match List I with List I and select the correct answer using codes given below.
List I | List II ‘
(a) Right of safety (i) Advertisting, labelling
(b) Rights to be informed (i) Quality, design
(c) Right to choose (1ii) Grievances of consumers
!(d) - Right to be Heard (iv) Emulsifiers, preservatives |
Codes: (i) (i)  (iii) (iv) i (i) (i) (iv)
@) 1 2 3 4 h) 2 3 4 1
fe} 4 1 2 3 (d 3 2 4 1
7 — provides a fair settlement of genuine grievances relating to the
performance, grade, quality etc of goods and services. (a) Right to safety
{b) Right to consumer education (¢} Right consurmer protection Act (d) Right

to choose

28. Pick the odd one out: Duties of consumers are

{a) Right to safety (b) Reading the label carefully

{e} Misleading schemes {d) Buying from reputed shops

39.

40.

41.
42.

43.

44,

45.
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The Chairman of the District forum is .......... {a) District Judge

(b) High Court Judge (c) Supreme Court Judge (d) Nome of the sbove
The District Forum can entertain complaints where the value of goods or
services and the compensation if any claimed is less than

(a) Below f 10,00,000 {b) Below f 20,00,000
(¢) Below ¥ 40,00,000 (d) Below ¥ 50,00,000
Complaints can also be filed by the ........ (2) Central Government

(b) State Government (c) A group of consumers (d) AH of the above
In a country like India there is shortage of many .........

(a) Workers (b) Products (c) Skills (d) None of these
In Organizations, emplyee dissatisfaction is indicated by .........
(a) Complaint (b) Employee ownership

(c) Grievance arbitration (d) Grievance strike

The Chairman of the National Consumer Disputes Redressal Council is .......
(a) Serving or Retired judge of the Supreme Court of India

(b) Prime Minister {c) Presidcat of India (d) None of t5 zbove

Match List [ with List I and se le_cE the correct answer using codes given below,

M List! List II

|

[(a) Mahatma Candii () | Seciiend

— S

‘h) Consumer counc ls (i) | New D:zlki

{c) District forum (ili) . Consnmer awerencss

(d) National Consuir.er Disputes
Redressal Com:n’ssion (iv) | Custome-

46.

47.

48.

49.

50.

Coes B & W@ v 8 @ @ W
(@) 1 2 3 4 () 4 2 3
& 4 @ .. 1 -2 @ 3 4 2

A few firms enjoy ...... power in the market place.

(a) Monopoly (b) Oligopoly (¢} Momopsony {d) None of these

Which one of the following is not correctly matched ? .......

(a} DCA - Department of Consumrs Affairs

(b) CWF - Consumer Welfare Fund

(c) VCO - Voluntary Consumer Organisation

(d) IOCU - Internatinal Organisation of Consumers Unity

In this modern world ........ are the vital part of the business.

{a) Consumers {b) Suppliers {c¢) Producers {d) Competitors

Any person aggrieved by an order made by the District forum may perfer an

appeal such order to the state commission within.......

(a) 60 days {b) 90 days {c} B Menth {d) 30C days

The Chairman of the State Consumer Protection Council is

(a) Judge of a High Court {b) Chiel Minister

(¢) Finance Minister {d) None of the above WL:;;-FT— 5
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ONE MARK

"TESTNO: 4

MMO‘ Marks : 50 I 1.00 : Hr,

COMMERCE

Unit : 7. Business Environment Unit ; 8. The Sale of Goods
Act, 1930 And The Negotiable Instruments Act, 1881

L

Choose the correct answer :

L.

v

_C;.)

50x1=>50

Marco Environment of business isan .......... factor.

{a) Non-economic {b) Economic (c) Controllable (d) Uncontrollable

GST stands for ......... (a) Goods and Supply Tax

{b) Govermment Sales Tax (c) Goods and Services Tax (d) General Sales Tax
The size and composition of thé population is partof ....... environment.

{a) Global (b) Technological {c) Socio-Cultural {d) Geo—physical

Organisation have realised the importance of nurturing and maintaining good

relationship with the ...........

(a) Competitors (b) Financier (c) Customers {d) Suppliers

. Every business has to take .......

{a) Strategic decisions (t) Dynamic decisions (¢) Both (d) Nome of these

.- Match List I with List I and seiect the correct aaswzi usiv g codes given telow.

List1 [ | Listut ]
{a) Suppliers (i) i King #
(b) Customers (i | Nationalznd global
(c) Competitors (uii) ' Wrolesalers and retailer s
(d} Chenucl members (iv) ! Stock / invenicry
Codes: (i) (i) (i)  (iv) (i) (i) (iii)  (iv)
fa) 1 2 3 4 m 4 1 2 3
{c) 2 3 4 1 {d) 3 4 1 2

. External environment of businessis ........

{a) Physical {c) Economic (d) All of these
helps the firms to identify threats which may affect the business.

(d) All of these

{b) Demographical

{a) Public image (b) Environment scanning (¢} Business aids

. Pick the odd cne out :

{a} CGST (b} 8GST {c} IGST (d) Technology

- Which one of the following is not correctly matched ? .......

{a) GST -
{b)

(e}

Goods and Services Tax
Corporate Goods and Services Tax

- Service Goods Standard Tax

143 T 3
%) International Goods and Services Tan

11.

12.

13.

15.

16.

17.

21,

23.

24,
N

" 14. VUCA standsfor....... 5 R e
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......... is the general or overall environment in which the busine

sS .
(a) Macro environment R Operales;

(b) Micro environment

(d) None of these
The sucess of an orgnisation depends upon the sh

members.

{c) Economic environment

aring of........ by ali

a) Visi
(a) Vision and objectives (b) Internal power relations

(¢) Company image (d) Values system
............ economy is a combination of both state owned an
ownership. ”

(a) Socialistic

d private sector

(c). Mixed

b) Capitali
(b) P ?stic (d) None of these

(a) Volatility, Uncertainty, Complexity and Ambigunity

(b) . Value system, Uncertainty, Company and Ambition

(e} Vision, Uncertainty, Corporate Governance and Ambiguity

(d) Volatility, Uncertainty, Consumer and Ambiguity

Businessis a partofthe ..........

(b) Economic Activity {d) None of these
............ is the result of New ndustrial Policy which abolished the ‘License
Sysiem’.

(a) Society (c) Both ‘a’ and =

(a) iobailsction (b} Privatisation (¢} Liberallsation (}1) None of these

.......... owinership riakes bo/d maragement cecisions due to their strong
fuundation in the international level.

(a) Prvate (b) Public’ {) Coryucrate. d) MNC’s
. New Economic Policy was intreduced in the year . ...
(a) 1980 (b) 1991 (c) 2013 (d} 2015

. By the act government cheks restritive trade ? ..........

{a) Industrial Policy Act 1991 (b) MRTP Act (c) FEMA Act (d) Nome of these

. India is one among such nations to commit itself to the New Economic Policy

(a) 1991 (b) 1995
Which one of the following is not correctly matched ? ....... :

{c) 1990 (d) 1986

Free medical treatment
GATS

One’s own country

(a) Lack of welfare -
{b}) Foreign Trade Policy

{c) Repatriate -
(d) Erain draln -
Which of the following reduces the dependence on external commercial
borrowings by attracting more foreign investments ........
(2) Privatization (b) Liberalization (¢} Globalization

------ means, to send or bring money back to one's own country.
{e) Tariffs {d} Repatriate

Advantages of privatisation

(d) None of the above

{aj Trade policy’ (b) Promotion
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26.

29.

30.

31.

32.

33.
34.

35.

37.

38.
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Pick the odd one out :

(a) Liberalization (b) Privatization (c) Goods (d) Globalization
Which of the belowisnotagood ? .......... '
‘{a) Stocks (b) Dividend due (c) Crops (d) Water

. Unpaid seller can exercise his right of lien over the goods, where he is in

possession of the goods as .........

{b) Agent of buyer (d) All of these

a) Owner of goods ‘{¢) Bailee for buyer
{

. Specific goods denote goods identified upori the time of ....... of sale.

{a) Agreement {b) Contract (¢} Order (d) Obligation

Sale of Goods Act was passed in the year .............
{z) 1940 {b) 1997 (e) 1930
The monetary consideration for the goods sold is called ......

‘(d) 1960

(a} Price (b) Goods (c) Both ‘a’ and ‘b’ (d) Nome of these
Which of the following does not fall in the category of “goods” ? ........

(a) Stock and shares (b) Money and actionable claims

{(c) Growing «rops and yrass (d) None of these

Match List I with List IT and selzct thie correct arswer using cc des given helow
i | i it =y Al .

Lis:: I 1 | ListII

(a) Two partics (i) i Mavable property !
(b) Transfer of property | (i) ‘ Mor etiry consideration
(c) Goods (it}) Doe.; not aimount to sale |
(d) Price (iv) ! Seller and buyer |
Codes: (i) (i) (i) () @ (i) (i) (i)

a) 3 4 2 1 ® 2 3 4 1

{c) i 2 3 4 (4 4 3 1 2
....... excludes money, actionable claims and immovable property.
(a) Assets {b) Liabilities {¢} Funds {d) Goods
Sale under sale of goods Actis / an ....... contract.
{a) Executory {) Emecutable (c) Emecuted {d) Hone of these
Ascertained goods is otherwise called as ... goods.
{a) Specific {b) Generic {c) Futuare (d) None of the above

. Existing goods can ize;classiﬁecl aS .eeieinn

() Bothaandb {d) Nor a nelther b

Ascertalned {b) Generic

{a)
Number of parties in a bill of exchangeare..........
(b) & fc} 2 {d) 4

Document of title to the goods exclude .........

fa) 2

{a} Lorry receipt {b) Raliway receipt (e} Airway bill {d) Invoice

39.

40.

41.

42.
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A cheque will become stale after ....... months of its date,

(a) 3 (b) 4 {¢) & @ 1
Negotiable Instrument is freely transferable by delivery if it is a
instrument.
(a) Order

(b) Bearer (c) Botha&h
When crossing restrict further negotiation

(d) None of the aboye

(2) ' Not negotiable crossing (b) General Crossing

(¢) A/c payee crossing {d) Special crossing
Promissory Note, Bill of Exchange or cheqﬁe is payable to order is called

(a) Bearer Instrument °

(b) Order Instrument

(c) Inland Instrument (d) Foreign Instrument
43. When an instrument has been lost it is presumed thatitwas...........
(a) Expired (b) Duly stamped (c) Stolen  (d} Misplaced
44. Match List I with List I and select the correct answer-using cedes given below.
List I I List II
(a) Bill of Exchange (i) Section 123
Ip—;; Cheque (i) | Section 124
{c) GeneralCrossing (iti) Secdon &
lEi) Special Crossing {iv) Section 5
Codes: (@ ) (ii) () Mm@ @)
) 3 4 L2 b 1 2 3 4
() 4 3 1 .2 a2 3 4 1
45. ... endoicement aces 1ot onerate ac a negotintior of the Instrument.
(a) Restrictive (b) Sans recourse (c) Facultative {d) Partial
46. IFSCisa ....... character code.
(a) 10 (b} 11 {c) 12 {d) 13

47.

48.

49.

50.

Pick the odd one out: (a) Ambiguous instrument
{b) Time imstrument

Which one of the following is not correctly matched ? .......

{c) Inchoate instrument (d) Entrepreneur

(a) Reserve Bank of India Act - 1934

{b}) BMICR ‘ - Magnetic Ink Character Recognition

{e} IFSC - Indian Financial System Code

{d) Negotiable Instrument Act - 1930

If the instrument is not ‘on demand’........ days of grace is granted.

a) 7 &) S fe) 3 () 4

Al svas instrument means an instrument which can be construed eitherasa
promissory note or a bill of exchange.

{a) Inchoate (b) Ambiguous (e} Time {d) Clean bill

Xil - 5td - Com - OMT.-4

P gy ree pem Eem mmn s EnR RS

Send Your Questions and Answers to Our Email Id - padasalai.net@gmail.com


https://www.padasalai.net/

www.Padasalai.Net

TESTNO: 5

E_X[[LSID_MOI Marks : 50 | 1.00 : Hr.
NE MARK

COMMERCE

Unit : 9. Entrepreneurship Development

Unit : 10. Company Law and Secretarial Practice

Choose the correct answer : 50x1=50
1. Which of the below is a commercial function ? .........
(a) Accounting (b) Coordination (c) Discovery of idea {d)" Planning
2. Which of the below is a factor of production ? .........
(a) Land (b) Labour (c) Entreprencurship (d) Al of the above
3. “Entrepreneurship is essentially a creative activity” - who said these words ?...
(a) Schumpeter (b) Richard (c) Knight (d) Jean Baptize
4. CWEI was registered as a civil society in the year ......
{a) 1990 (b) 1992 (c) 1996 (d) 1998
5. “Women who innovate, imitate or adopt a business activity ar= l'nown as women
entrepren:urs’ ............
(a) Jean Bipt ze (b) .{nizht {~) Richard {4\ Schumpeter
6. Name the institution which is seiup as an apex bank tu provide direci or
indirect finarcial assistarce under difference scheme ..........
{a) SIDBI ) NSIC i~ N/ABARD (d) CWEI
7. Match Lisi. I vsith List Il and select the correct aisvrer using codes zivan below.
~ List1 \ 1 Tistln . |
(a) Entrep_;neur (i) N }villit_ar_y—cxgduians
(b) Musical institution (i) Realm of economics
(c) Sixteenth century (iii) Oxford Dictionary
(d) Eighteenth century (iv) | Frenchlanguage
Codes: (i) (ii) {iii) (iv) @ (i) (iii)  (iv)
@ 1 2 3 4 (b) 2 3 4 1
() 4 3 i 2 d 3 1 2 4
8. wewws does not share in profits of venture.
{a) Entrepreneur (b) Intrapreneur (c) Promoter (d} Manager
9. Find the odd one out in context of Trading Entrepreneur ...........
{a) Selling (b) Commission {c) Buying (d) Manufacturing
10. Poultry, Flowers, Fruits etc are called allied Products of ........ entrepreneur.
(a) Corpoiate {b) Retail (e} Trading {d) Agricuitural
11. Motive of a Pure Entrepreneuris .......... {(a) Rendering service

{b) Earming profit (c) Attaining status (d) Both b & ¢

12,

13.

14.

15.

16.

17.

9.

20.

21.

22.

23.

24.

www.TrbTnpsc.com

i

Gopal Tooth powder is an examplé of ... 5

(a) Fabian entrepreneur (b) Drone entrepreneur

(d) Retail entrepreneur

Corporate entrepreneur is called .........

{b) Buyer (d) None of these
........ entrepreneurs are said to be conservatives and sceptical about
any change in their organisation.

(b) Fab!a'x'l (c) Imitative (d) Innovative

...... takes initiative necessary to start an entity under corporate format.

(b) Agricultural entrepreneur

(d) All of these

......... eritrepreneurs enter into the venture of supplying service products to

(c) Corporate entrepreneur

(a) Promoter (¢) Founder

plasticising
(a) Drome

(a) Retail entrepreneur

(c) Corporate entrepreneur

end consumers.
(a) Rural (b) Urban
Pick the odd one out :

(a) Business entrepreneur

(c) Agricultural “(d) Service

(b) Trading entrepreneur

(c) Industrial entrepreneur (d) Interview

. Whick one of (ne folluwing is not correctly matcred ? .......

(a) Urben eatrepremeur - Corporate entrepre.eur

{=! Rural entrenreneryr - Promoter
{v;. Private entieprencur - To earnu pronat
(d) State: entieprenenr - Compiny R

........ is the Goverament of India’s end 2avour o promote culture of innovation
and entrepreneurship.

(a) AIM (b) STEP " {c) SEED (d) AIC

........... is designed to transform India to a global design and manufacturing

hub. (a) Digital India (b} Make in India (c) Startup India (d) Design India
Stand-up India was launched in ..........
(a) 2015 (e) 2016 (¢) 2017 (d} 2018

Entrepreneur has to apply for ........
(a) Satutory License (b) Project report {c] Provisional Registration certificate
(d) Permanent Registration certificate
Pick the odd one out :

(a) Startup India (B) ‘Make in India
Which one of the following is not correctly matched ? .......

(a)) TREAD - Non - governmental organizations
(b) PMHVY .

{c) National Skill Development Mission -

{e) Atel Innovation (d) Management

Skill certification
Qct 2015

{d} Selection of size - Infrastructure facilities
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34.

36.
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25. How does a person who envisages the idea to form a company called ? .....

(b) Company Secretary (c) Registra (d) Promoter

(=) Director
Specify the type of resolution to be passed to choose the locatlon of

Registered Office of the company within the town or village orcity ........

(c) Either Ordinary or Special

{a) Ordinary (b) Special (d) Board

_The shares which are offered to the existing shareholder at free of cost is

known as .........

(a) Bonus Share (b) Equity Share (c) Right Share ' {d) Preference Share

. Who can issue stock ? ........

(a) Public (b) Private {c) One Person (d) Small
3 Mlmmum number of members required to apply for incorporation certificate
in a Public Ltd company is ..........
a) 3 b) 2 (€) 7 {d) 50
The person who envisagas the idea is called A e
(a) Promote: (b) Manager (¢) Director ” A(d) Me mber

The address of the regis:er:d ofiice nf the compuny mus® be notificd to the

registrar wthin

incorporation.

(a) 15 (k) 30 {c) 60 (d 45

Minimum s ubscription should be received within ........ days.
(b) 125

....... instruments are secured by a charge on the fixed assets of the issuer

(a) 130 ) 120 (d} 130

company. (a) Secured debentures (b) Unsecured debentures

{¢) Redeemable debentures : (d) Perpetunal debentures

For example par value is ¥ 10 and it is issued at T 15 then T 5 is the ........
amcunt. ‘
(a) Profit (d) Premium

(b) Dividend (c) Market value

_ Which one of the following is not correctly matched ? ...

{a) Bedy corporate Legal existence

{b} Promoter - Bection 2(69)

(¢} Incorporation - Becond ztage

{d) Capital subscripticn - Flrst stage
A Private Company shall have a minimumof ........
(d) Two directors

{a) Seven directors (b) Five directors {c) Three directors

days or registration, if it s not done at the time of

38.

39.

40.
41.

42,

+43.
44,
45.
46.
47.
48,

49.

50.

(b) Declare dividend
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. A Public Company having a paid up Share Capital of Rs,

have a Director, elected by such small shareholders, or more may

(a) One (b) Three (c) Five (d) Bev
. e
What is the statue of Directors will regulate money of the com :
pany ........
(a) Banker (b) Holder (c) Agent (d) Trulteesy

The Governing body of a company incorporated under companies A

‘ S
called ........ ct
(b) Policy

(a) Board (c) MOA

Public companies which have Turnover.........

(2) f 25 Crores _ (b) ? 5O Crores () T 76 Crores (d) {' 100 Crores or more
Disqualifications of a director are mentioned in section ,

(d) Aoa

(a) 164 (b) 161 (c) 168 (@) 177
Which one of the following is not correctly matched ? .......

(a) Women director -~ Every listed company

(b) Additional director - Paid up share capital

{c) Alternate director - Whe i3 not the member

{4} Shadow ‘iirector - L:ss {han thiee monts

Boara iMeelinus to be conducted ‘minirmim ... ... times in a year,
(a) 2 (b) 3 le) 4 (d) &

Menuior the scatus o”a Company Secretary inacomnpany..........

(a) 3 m :mbes (b) A. dircctor (c) An independer.t  (d) An employee contractor

A erceial resoluticn ic red juired 1o ...... . (@ Redeem the dobentures

(c) Appoint directors (d) Appeoint auditor

Meetings of directors are called ......... (a) Special meetings

(b) Beard meetings - {c) Committée meetings (d) None of the above

The word secretary has originated in..........

(a) French (b) Latin {c) Tamil (d} None of these

The ....... is the kingpin of the whole corporate machinery.
(b) Directors (d) Chairperson

(a) Secretary {c) Memhers

The total managerial remuneration payable by a public limited company t©

its director or manager should not exceed ........... of the net profits of that
financial year.
(a) 3% (b} 8% = (c) 9% (@ 11%

An abstract of receipts and payments upte a date within ......... days of the

b) 4 (¢} B (d} I

s =
o e e e G I S G R _\'H~S[d-fem-0\3§-r-'3

report. (a) 3
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